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2H: BEAD
M REpE 8N B2
el FSie 288 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,532
02 S3=gHl 1,742 4,075 A2,333
OoRER3 1,742,000 1,742
s 1,742
03 A= SHI 4,790 12,470 AT,680
OSUSIHAL Huls 28 4,790
—ZAIZ 940,000& %12 940
== 940
—&= 500,000& *12] 500
= 500
— Wbl 5,000 #6702 3,350
= 3,350
SSAeAIeE A1 1,500 1,500 0
301 EtE NS 1,500 1,500
14 JIEt2d=3 1,500 1,500
ORS& Hfdll SOl 2t HE (e &)
zHs 500,000 +324 1,500
HeRgs R 124,526 94,526 30,000
201 fer= 3| 124,526 94,526 30,000
01 AtR2te|HI 124,526 94,526 30,000
OfgFgs Ad8il e 2888
8,000,000 624 +2JH At 96,000
ONeREs SSAEI}L BS5=8
43,6003 352 1,526
OIS MHESHNAN dEFE
90,0003 *3021 27,000
HESAIKIIE A 194,170 189,010 5,160
= 29,960
Al 164,210
IHESAIXIIE A 194,170 189,010 5,160
= 29,960
Al 164,210
101 @124H| 110,829 107,158 3,671
= 12,824
Al 98,005
M IRINZZENSES 110,829 107,158 3,671
OMESAIXIL HREX N2 2 1A
] 86,196
—Jl2=s 9,6203 x8EH+BA| 2222 +5F 67,725
= 10,076
Al 57,649
—T5rd
9,620 xBE +BA| 2t +53=+5 16,392
= 2,290




FA FSLt
M. SSMNHEO S3HO He
2l IHESAIXIDE A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,102
— % i 9,620 «8E*BA| 2H+5E 3,079
= 458
Al 2,621
ONESAIXIIL HREZX DI2tN2 2 At A&
242 15,950
—Jl2= 1,780 8H#BA| 2222 5 12,532
-5+
1, 7803 x8E *BA| 2t +53=+5F 2,848
— ¢ x==g 1,780 8B <8 Al 2H+5 570
OMESARIL HREX JIZ2tH22X 2
= 8,683
—=go= 102, 144,000 +4.. 5% 4,597
—JdHEE 102, 144,000 +3.545% 3,622
—LoFIQAEH
3,622,0002 *12.81% 464
201 er23| 83,341 81,852 1,489
= 17,136
Al 66,205
01 AtR2t2|HI 83,341 81,852 1,489
OMESAIXDIL BEF==2 60,947
— & EXIIAS 53,753
= 43,600 % (48,0002 X| /42) 49,829
= 13,260
Al 36,569
A= 43,6002 *6002& X1%0.5+0.3 3,924
= 1,044
Al 2,880
—d4HS 7,19
AN E(23])
43,6002 1002 XI+0.5+0.3 654
= 174
Al 480
- 01918l E (23])
43,6002 3002 X[+0.5 6,540
= 1,740
Al 4,800
OMESAIRIL &odXtz & HatXtg QI 7,100
-8 k= 700,000 %52 3,500
—XIJtEAM 90,0002 4004 A 3,600
SSIHEESAAE ] 3 3N+
100,000 12 *42] 4,800
OHNESAIXIL ZAL =& 8,3%
—HESAIXDL 28 EES HA
1,000,000 %52 5,000




2H: BEAD
3 FSNHFO X0 2|
Rl HESAIXIDE AL (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—IHESAIXDL SHEE-H F0 3,3%
- 228 2X 99,0002 «6&F Xt 594
228 23 140,000 +20H 2,800
ONESAIXIL ZAF 2 SEHEHI
35,0002 68 122 2,100
= 918
Al 1,182
CRHFANA = 294,812 419,293 A124,481
= 554
Al 294,258
CEHFA(HE, C2EE) 2L 232,825 298,653 65,828
101 21A4H| 22,169 21,435 734
04 JIZtN2Z2 XS 22,169 21,435 734
OFAZEAIE A2t JIZEHZ22 X 212
] 17,240
—Jl=2 9,62021%124+8AI 2222 x8 13,545
—z=gay
9,620 x1H+BAI 2H+55=+82 3,079
— %X 9,620 x1&*8A| 2H+8E 616
OFATEAIE AR JIZtN22 X 42
82 3,191
—Jl=3 1,78021 % 12§48AI 222 2 18 2,507
—E=gag
1,780+ 1H+BA| 2+5==+8 570
— %X 1,780 x 1 +8A| 282 114
OFAEEAIE AR JIZtN221 28
=3 1,738
—=gle= 20,428,800 *4. 5% 920
—dAEE 20,428,800 *3.545% 725
—LoIEI|RLEE 725,000 %12.81% 3
201 223 22,487 23,305 A818
01 At22t2lt] 21,800 21,800 0
OFATE ot EEE2 M
2,000& 10,0004 20,000
OF2H2AYS & XA 3FyHd
g 100,000 x9& »23] 1,800
02 S3=gHl 687 1,506 A818
OADIEKAIS 2d= flgt S4lbl
28,600 =20 122 687
202 04| 1,200 1,200
01 2LHoIH 1,200 1,200
O2gxage| SR 0
100,000 x 1 x 122 1,200
203 HR=AH] 2,340 2,340
03 A=A PR FA| 2,340 2,340




2H: BEAD
M REpE S8HO B2
ol EREFAMA = EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAEE NS SAXIILEAL RS LA N
S g4 2,340,000& 2,340
308 AHXIEMSOIE 95,689 4,117 51,572
11 S 2S0UeZB & HASAIE 95,689 4,117 51,5672
O=zg=F4 HEAMY 41,167
-t =8 2= 19,322,000& 19,322
—CIoIe S&/d8 7= 2,172,000& 2,172
—GISAHE S/W KX 2,518,000& 2,518
—=AF S 2L AAE(KAIS) 2EXIH
17,155,000 17,155
OFa2dE AXNI =T HHA
54,522,000 54,522
401 Al HIZL 01| 87,500 207,456 119,95
01 Al&H| 87,500 207,456 A119,95%6
O=2d2AE X & RANE=x
50,000,000& 50,000
OFAZ2AL(YAHFAE) HH
25,0003 %1,5002 37,500
405 KHaHE SH 1,440 1,440
01 AL =S F=H 1,440 1,440
OADIEKAIS 285 fligt @2 2Y
720,000 2CH 1,440
CE2HFA SHHAIE A EXIAHY 61,987 42,640 19,347
= 554
Al 61,433
308 AXIHSO0IA 61,987 42,640 19,347
=S 554
Al 61,433
11 S| 2SO0 UeZB XA AIE 61,987 42,640 19,347
OFAZEAIE LA 60,139,000 60,139
O=JIXNEHS HIIAEH LHMZEA
1,848,000& 1,848
= 554
Al 1,204
HY2IHH(2SLD) 73,692 68,292 5,400
=&l 73,692 68,292 5,400
JI23Hl 73,692 68,292 5,400
201 =3 37,452 32,412 5,040
01 At2t2lt] 23,760 23,760 0
ORAE2g Izl 23,760
— 2SSl 40,0003 x22E*12& 10,560
—=tl 50,0002 x22H *12& 13,200
02 S3=gHl 13,692 8,652 5,040
OoRER3 13,692




2H: BEAD
M BRHSHAY| (LS
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—S 2,530 *400244 12 12,144
—a 43033002+ 123 1,548
202 04| 32,040 31,680 360
01 2L AL 32,040 31,680 360
OgRFa JI20bl
120,00021+22% * 122 31,680
OZ2A 2 24 NS oY)
180,000& 2 360
203 HR=H] 4,200 4,200
(U A Regehes B tarSlal 4,200 4,200
ORANEgg =AY 350,000 x 122 4,200
Wees(FSat) 3,000 27,000 A\24,000
FSPNES 3,000 27,000 224,000
grat=01E 3,000 27,000 24,000
802 grat= DI E 3,000 27,000 24,000
03 JIEtEtE =2 S 3,000 27,000 /24,000
ONgREs DIIER =SH
3,000,000& %12 3,000




